20194 5E3HA 201943817H(H) 6I535% ~ 8EFA0%  (2MERI054)) FIKEETSYB - BHRE
TEAM 1 2 3 4 5 6 7 8 9 10 11 12 13 R H E
Eeld FLIRGR BRI 2L B 0 2 0 0 1 0 0 0 0 3 1 7
B A Z3—L2R 0 0 1 2 1 3 1 5 X 13 15 3
[ MvPaT®H) | ®S XH EEI
[ #1_| meie 15 | | | | | | |
[ MmvP@F) | MM kfE EE
[ BagE | IsEx 118 | -7 | tEmkiE 1S [ A—nr ] \ \ \ |
BT llEA 11 BIE 5 6-4 | MR AR 79
HERT &6 BT 1-1
#X: Xa—1LX
TIE 28 1 2 3 4 5 6 7 8 9 10 11 12 13 14 T2 & & & M & %] 1%
1 ELB & &M ER =z (1) & (1) hR 5 3 2 444
2 BB K% =R ®ano =R BT 3 2 1 .000
3 KERK % = F2 B 41 1 .200
4 BB Ex (1) 1 1] 1] 1 .286
5 BiE 5 TR 3 = PSS 4 1 .250
6 S50 SR —=n Bz (1) ek FEER 3 1 1 1125
7 AR E a0 B hR o3k 3.1 1 .375
8 EE K— £33 % bl S B (1) 3.1 .333
9 iEE PN — —% #To (1) mE (1) 3 1 .000
10 KK BRE k2 B == (1) = 4] 2 1 1 500
11 Lt 1E—EB S =ik =ik =ik 4 3 .000
12 I | Wz (1) £3 2 p (1) 4 4 2 571
13 AR R =-n ®ao —E =0 4 .000
TOTAL[45 (15| 1[10] 5] 2 3] 214
FIR - FLIRERERE
fIIE | ARFTE £A 1 2 3 4 5 6 7 8 9 10 11 12 13 14 BHE T R AR M & HEER
1 EiTE e Pl %k PuBk UEEoT Il | ()
2 =% |=2nm B =iR =B #an 5 12 1 |4 2 2 164
3 aiT& = R B = BiE 5
4 HiTE Bk =2n kR =2n 1 |5 11 0.00
5 aiT#E UEE=T Fz UEE=T =7 A KE (s)
6 HiTE R (2) = = Bk 3 120 | |1 3 | 000
7 aiTE =ik =ik =ik =ik
8 HiTE =ik WE  won B L]
9 aiT& =3\ s gmpn| #an
HEEEEN
___ HEEEEN




